33/na (B) = (80000 + 10%) + 26% = 110 880 py6.
3) [IpaMBIC 33aTPATHI NO HIACTHAM:
3np (A) = 60 000 pyG. + 180 180 pyG. = 240 180 py6.;
3up (B) = 95000 py6. + 110 880 pyG. = 205 880 py6.
4) O6exo3aficCTReHHEIe PACXOALL:
Pobur (A) = 240 180 py6. - S0% = 120 090 py6.;
Po6w (B) = 205 880 - 35% = 72 058 py®6.
5) HNpow3soncTeeHHan cebBECTONMOCTE:
Cup (A) = 240 180 py6. + 120 090 pyG. = 360 270 py6.;
Cup (B) = 205 880 py6. + 72 058 pyG. = 277 938 py6.
6) BHEnponIBOACTBEHKELIE JATPAThI:
3sscnp (A) = 360270 py6. - 5% = 18013,5 py6.;
3suenp (B) = 277938 - 7% = 19456 py6.
7) Nonwas ceGECTONMOCTS:
Cn (A) = 360 270 py6. + 18 013,5 py6. = 378 283,5 py6.;

Cn (B) = 277 938 py6. + 19456 py6. = 297 394 py6.



